UART to I/O Write
Host————->UART_Root

CMD_ Mode

UART TX —  Byte 0 | Byte_l Data_l

*Bit[7:3]=Reserved

Bit2=For Device OUT_2 Status (0=Low, 1=High)
Bitl=For Device OUT_1 Status (0=Low, 1=High)
Bit0=For Device OUT_0 Status (0=Low, 1=High)
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Bit7: B/W Flag (0=Wnte J1=Read) B[?:j]:REEEWEqu
Bit6 Resarved: RataLawet BE[4:01=Nommal DataLength (Range 1-28)
B[5:0FDevice_ID(CMDs Target)+'
Target_Dewice 1D+ 0x00=Devicel+
0x01=Device2+
e
Ox3F=Devicefds
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UART to I/O Read
Host———>UART Root

CMD_ Mode
UART TX — Byte_0 | Byte_l
*7 ¢ H|¥7Data l#ciE, £ & F < 5 1 Bbyte
Bit7: R/WFlag {(J=Writa< 1=Rea§ B[7:5FReserved
Bit6=Reserved: gl B[4:0]=Nonmal Data Length (Range 1~28)
B[5:0FDevice_ID(CMDs Target)+'

Target_Dewice 1D+ 0x00=Devicel+
0x01=Device2+
o

Ox3F=Devicefds
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UART RX Data_l

*Bit[7:3]=Reserved

Bit2=IN_2 Status from Device (0=Low, 1=High)
Bitl=IN_1 Status from Device (0=Low, 1=High)
Bit0=IN_0 Status from Device (0=Low, 1=High)

+
SuanUSIT www.sunplusit.com



